BT R/NERAMEARELIY—FIRME

HERX S % 5 (T (£F9:g|<])~12:00) ?1: :I%o~17:00) (Tii;??)ownoo)
A (n) =] =] =]
; REE 24(81) 2,670 3,530 4,370
,2: E1-20HEE 40~60(108) 3,640 4,700 5,780
SEIF A &1 20~30(54) 1,820 2,350 2,890
Ok 1= 52 20~30(54) 1,820 2,350 2,890
HEIHEE 20~30(54) 1,820 2,350 2,890
FATHE=E 20~30(54) 1,820 2,350 2,890
ESHHEE 20~30(54) 1,820 2,350 2,890
EEEWBEIFE) 20(81) 2,670 3,530 4,370
I:Z OAEXE=E 20(81) 2,670 3,530 4,370
FEeTHE=E 20~30(54) 1,820 2,350 2,890
FITHEE 30~45(74) 2,460 3,210 3,960
RERE 96~ 120(192) 6,200 8,220 10,260
A g npuxEnem 400 () 2,560 3,420 4,270
. ZHMEEHEE) 200 (m) 1,280 1,710 2,140
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